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Olt=SssH =) |4 2 A5 S &
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SA el Rel ot
HE: 01PR0l HANGHUNDTHE/ANHE)
R AIBANE OHE & X1 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 2,317,764
Al 5,415,686
AFANY OHE & X 7,733,450 6,695,870 1,037,580
= 2,317,764
Al 5,415,686
IFSIt Al =& 1,074,040 1,088,250 14,210
201 er2 3| 54,580 51,440 3,140
01 AtR2telHl 49,580 46,440 3,140
Odgt+==H| 41,440
SQIFAH S2= MAH
6,440,000 * 14 6.440
oQIFAIM S2 B2 MH 5,000
— HIAITH 80,000& *5JH 2~ +52] 2,000
FUE 200,000& *3JH 2-#52 3,000
o QAR HHC 82 21
30,000,000& *14! 30,000
O=2g=+¢ 8,140
oAl QPR BHTY
100,000 x19E #2353 3,800
=@l OOl 2 1,340
—2A=z 370,000& *22] 740
= Y= 200,000& =22 400
- SH| 100,000 #23] 200
oIS EIL AExE
100,000& %1024 %3] 3,000
03 A2 I 5,000 5,000 0
Oel7e & JIgAL 5,000,000& *14] 5,000
202 04l 3,560 3,560
01 2LHoIH 3,560 3,560
OCIZAIM 82 & OHY
20,0003 «2ZH+52* 112 2,200
OQIFAIZ 2= AlZ HIXIOH
85,0002 x2EH*x2 2 +23] 680
Os2He 22 F4 & Az FHAE =T
85,0003 x2& x2 2 23] 680
203 HR=H] 4,000 4,000
03 A=A =AY 4,000 4,000
OCIAI =X 4,000,000 14| 4,000
301 EtE N = 1,002,500 1,002,500
14 DBt 2 a3 1,002,500 1,002,500
OCIFAIH =X MAXRHS
1,000,000,000& *14] 1,000,000
Oel79] g J18 MAUSEHE L4 M= 2,500
SES RSy 500,000& x1H 500




SA LRt
HE: 01PR0l HANGHUNDTHE/ANHE)
CHRl: AIZHANY JHE & KR (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oy 300,000 2 600
oXcld 200,000 5% 1,000
oy 50,0003 +8< 400
303 Zal= 9,400 9,400
01 2= 9,400 9,400
OQFAIY =& oz 9,400
ofe BN i3 2,900
-5 1,000,000 * 14 Al 1,000
-5y 500,000 *2IH 2 A 1,000
—doy 300,000 34 2 A 900
o4 SHE HUZ 4,000
-3 1,000,000& * 14 Al 1,000
-5y 500,000 *3IH 2 A 1,500
—Zejd 300,000 *5IH 2 A 1,500
o4 MY HAZ 100, 00021253 2,500
MERR - O JHE 23Xkl K& 406,530 321,880 84,650
= 162,612
Al 243,918
307 elztol & 406,530 321,880 84,650
= 162,612
Al 243,918
08 OIXt2d=S 406,530 321,880 84,650
OUESRER - THAEHIE E=Atel X3 Atg
406,530,000 *14] 406,530
== 162,612
Al 243,918
QERR =8 A= HE0IXH XIZ A 350,000 350,000 0
307 elztol & 360,000 350,000
08 OIXtE2& = 350,000 350,000
OXERE =5 HAXS WEOIX XA At
& 350,000,000 * 14 350,000
FHER HE=os A 1,820,000 760,000 1,060,000
=S 546,000
Al 1,274,000
301 Eet2 NS 1,820,000 760,000 1,060,000
== 546,000
Al 1,274,000
14 JIEt2 8= 1,820,000 760,000 1,060,000
oYERR ZE=0tas N2
2,000,000 91024 1,820,000
= 546,000
Al 1,274,000
dgFE 2= A 4,022,880 4,140,400 A117,520




SA el Rel ot
HE: 01PR0l HANGHUNDTHE/ANHE)
R AIBANE OHE & X1 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,600,152
Al 2,413,728
301 EtE NS 4,022,880 4,140,400 A117,520
= 1,609,152
Al 2,413,728
03 A2 E A0 2 (XL THH) 4,022,880 4,140,400 A117,520
OdgdEE 2FIHE A
4,022,880,000& * 14 4,022,880
=S 1,609,152
Al 2,413,728
eIRZA S 5E HE =8 89 60,000 0 60,000
207 AR 60,000 60,000
01 HESHI 60,000 60,000
OO0f==Al 217124 TS 5o A= =8 &
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A2 ZHI(LFLI2I) (OIEHIIE) 85,011 82,475 2,536
el 2E| 23,357 20,821 2,536
el E2g| 23,357 20,821 2,536
101 e124d| 23,357 20,821 2,536
03 SR (RIH )22 U2+ 23,357 20,821 2,536
Ot 22+ 23,357
oA T
12,9765 +20A| 2H+ 12 x150% 23,357
Jl=23H 61,654 61,654 0
Jl=23H| 61,654 61,654 0
201 er=2 3| 39,787 39,787 0
01 AtR2t2|HI 39,787 39,787 0
OYBtgH| o A
15,351,000 * 14 15,351
OsSgtl SX A& 19,636,000 * 14| 19,636
SIA2Z 24 g & 2hel g2Fa
=gl 8,000 x5 *102x 12 4,800
202 048l 17,667 17,667
01 2L AL 17,667 17,667
O=U0i8l SHAI& 9,667,000& 14| 9,667
OgTielN2dH s g2Fd
20,0002 x1H 82«10 1,600
OFe74 SHEHUR FX
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203 =] 4,200 4,200
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